ARSI B R Y T
XUAE FH 3 65T
A TAEH 7 500bar

[zF

iR 1T 2 BU7E K — B (8] 5T AR 188 138 PR A
FA 5 B0 43 B G BT, 40 75 A B S Bk R I B9 3%
B, HAXLMEIBAIARSER .

15 AR

XA MR R B IR £ & %

It th BEE B E .

WRh & B gERIFAEFFES/LFREG MR
SHETREFLMZHAFA O BB IKEBHE
M. R EZMAHENERF (W DIN 3116)i7 %

JHEL, BT LUMEL £ IR AT IR AR B RAR(R

).

LZE s
TEEMBL R AR, R
SheESZYIRIN, BR AL

EEEWM

R~F h($FLRE ) A +& 8 F, B AR ER T2

FRMAEBFELL.

RN A RIPEHTEBIF, RES AR E AR

hFL MBI ST

AL AT R E m Z ML TN
BEMEEHIEIR AR A0.100

RIEINE.

M ak . www.fdzc.net
I 4% 9.7 021-51872743

RO RemT g R ByhERE b+05
/7k G3.800 b
- R mac 10pm @ Radius adge
K ~J—2—
0 n N S e
[‘4’ |+ [ |
f T ! f f T 1
J T (7]
x =1 _ I . Y g |
== P % ,
T . " [optionally__ : —171—1 i
=4 | n\.__ 6
L *: L | = Ls g |
@0 4] .!_ — @
@az_ || |
@al ||
. RS

&2 ®D
FEEAT ¢d
1772 +1

F % 47 100bar
% 4 75 500bar
i 37 100bar
+i 11 7 500bar
F10mmAhE
TR
®al f7

®a2

b

c

Qe H7

f

g

h+0.2

i

k+0.2

1£1

m + 1

On

OXUZLTIRE

dp

r

s min.
SW
FENHHEE
5=

mEE 100C
REZ 150C
(VITON®)

*

For evpanding plg
Part-no. 3300-858 |2

Radius adga

[mm]
[mm]
[mm]
[kN]
[kN]
[kN]
[kN]

[cm?]
[mm]
[mm]
[mm]
[mm]
[mm]
[mm]
[mm]
[mm]
[mm]
[mm]
[mm]
[mm]
[mm]
[mm]
[mm]
[mm]
[mm]
[mm]
[Nm]

[ka]

g. @
| 1/4:/._ LA
8al LV optionaly
16 20 25 32 40
10 12 16 20 25
16 20 25 32 40
2.0 3.1 4.9 8.0 12.6
10.0 15.7 24.5 40.2 62.8
1.2 2.0 2.9 4.9 7.7
6.1 10.0 14.5 24.5 38.3
2.0/1.2 3.1/2.0 4.9/2.9 8.0/4.9 12.56/7.7
22 28 35 44 55
21 26 33 42 53
M26x1.5 M32x1.5 M40x1.5 M50%x1.5 M60x1.5
6 7 7 10 12
22 28 35 44 55
19 20 25 28 30.5
48 53 65 72 86
48 53 65 72 86
53 62 72 79 93
8.5 10.5 13.5 15.5 17
65 67 82 94 112
30 31 39 44 47
31 37 44 54 65
M6x12 M8x12 M10x15 M12x15 M16%25
2.5 4.2 5.2 6.2 6.2
25 30 35 42 50
8 10 1 13 16
8 10 13 17 22
50 100 200 400 650
0.165 0.25 0.5 0.9 1.7

A2 1471-001 1472-001 1473-001 1474-001 1475-001
a2 1471011 1472-011 1473-011 1474-011 1475-011

* B F T35 5 2 500barknkt i B 2438 fF o 500N/mm?

4 A 2RI FAu:
E-mail:chengff@sh163.net

13601809714



A

ISz FH 25451
EEHR
t. P
Bz FRZEf5 T ] T
AT RERANSHERESEEEEEN [[TTH | Bl i i | Tﬁ
{1 PR SR 5 R0 BT (B R 5 84 S | | ‘ B % f%
T4 %A% G3.800) AN | | (@ @ I@
i | d =N
L‘! 5 L
B =N =S=REs R
FEEDS T3 T2
3 T =T
s A A N B
T T T

WAERSMROUEREREIES THRAE L
YEARLELE A, SRSt HI TR MIFm

M ak . www.fdzc.net

% % 9,7 : 021-51872743

M4 A AL RIE FAu:
E-mail:chengff@s

13601809714
h163.net



